SHA4EFE GRRESKRYYI-X2 (RESREBAYYH—-ERIRTE - 2hMSRYYHI-XERIRTFER)

BERIIESR CRESNISNIEELESHFIR

B B

XL TEA A IR
KEEIFH : B350 +HT109) + 1% 43557
GESHI-1057 + JER A2 H-1097)

we =i & O E# ) INER TR £ RS . . A
Eﬁgfgscﬁﬂj%ﬁwﬁb\t U E#AR 2022 1122 6555(2) %fﬂiﬁ@ftilﬁ %%&(\ZﬂkaO%%%ﬁo N
BIH LB LR R B R TR 3 DHAEE 13:00 KERERARIEDOBMROA TR,
S ANBHY v H— AR ABRRREL TS
SOZT—IURREST LA AM SOZT—IURREST LA AM
6A48 (L) 6A48 (L)
11:00 13:00
1j1 oj o of 2 1] 4
0-0 0-0 0-1 0-2
1-1 1-1 0-1 1-2
0EXO0 0EXO0
0EXO0 0EXO0
4]0 2PK4 152 3]0 7PK6 4]2 3)2 o1 42 of 8
2-0 1-0 3-0 2-0 1-1 0-0 2-1 0-5
2-0 0-2 0-0 0-2 2-1 0-1 2-1 0-3
0EXO0
2EX0
13 2j0 of 2 of3 1j1 1]3 1jo0 1]2
0-2 0-0 0-0 0-0 0-1 0-0 0-0 1-0
1-1 2-0 0-2 0-3 1-0 1-3 0-0 0-2
0EXO0 1EX0
0EXO0 0EXO0
541 2]1 1] 2 of2 Of1 7PK6 2§0 o1 1jo
1-1 1-1 0-0 0-1 0-0 0-0 0-1 0-0
4-0 0-0 1-2 0-1 0-1 0-0 0-0 1-0
1EX0 2EX0
0EXO0 0EXO0
2]0 2]0 of 1 481 481 201 201 2
0-0 2-0 0-1 0-0 2-0 0-1 0-1
2-0 0-0 0-0 4-1 2-1 1-0 2-0
0EXO0
1EX0
2 3 [ E O [ E [ Ry R R A3 B4 [s [e [7 @8 [ RO [N 2 O[5 R RN RS A P8 RO B9 RO R [N B4 BE pE 2 39 [
b= I 67 I =1 N AN S 24 N 2 Y N /AN A =t =<8 I 2 P O £ I 20 N =4 O I =1 N = B = N =1 A b0 N ==Y N /2 4 A S 21 N A -2 /AN I /AN =74 I 4 O 4 I =1 I /AN Y == I i B ¥ &l |
R |m E " x 2 x 5
= & x| |wEl ] [ |X I =1 ES [0 =] k=g
B (@ A = |X| [F E=] n ] Ed
i)
m(E| (g || (& || [E| || N (E| S| (B (= || (8| |8 (&8 || |E| (& |%| (& |8 |88 (A1 |E| (2| (W& |&| &l |E| (=] |W|| |T| [#H (M| (& £33 |

KA R TR DG E | PREE TR AR E,




